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INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be staied elearly on the cover of the ansieer book in the spare
prbvided for this purpose. No credit will be given for the
answers written in a medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannoda text,

please refer tn English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D, .
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Write short notes on the following in not more than 50 wordy ,
question carries 5 marks.

toh, B

1. (a) Sanskritisation
(h) Modernisation
(¢e) Universalisation and Parochialisation

(d) Kanyadan
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T A 4x5=20

Fenomingt see 50 Foner SoeoTod d00 é.’o?;z‘ﬁ 2056, T3 cgérf
5 eanEITED.

(@) heen ToE, ;00 wasmod® (Sanskritisation)
(D) BHOASTT
(%) SPAeTe 3y deneve (Universalisation and Parochialisation)

(2) BTRLE

[Turn over



2172 (4}

10.

PART B 10x10=1¥

Write short notes on the following in not more than 100 words each. Each
question carries 10 marks.

Tribes

-Saocial consequences of the Green Revolution

Srinivas’s notion of Secularisation
Desai’s notion of Jointness
Jajmani system

Dominant Caste

Westernisation

Corruption

Acculturation

Caste among Muslims
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PART C Gx15=90

Explicate the following in not maore than 150 words each. Each question
carries 15 marks.

Rackward classes -

Social stratification in Indian urban-industrial setting
Cultura;l barriers to Family Planning

The Indian joint family

Soeial implications of land reforms

Seheduled tribes
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6x15=80

FeAS e sen 160 Tomen eowod STTTRA. 3 géﬂg 186 2oFmss.

LCTYD ShETED

yROEE SNT Emebte GEdond meamy FOTn
Fotoow WBREdT Toow, BF FEred

U3E dpmeEtdow (Joint family) assﬁﬁ.
JATIROBNY THTTE SOOI
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PART D | 3,30=4(

Answer any three of the following questions, in not more than 300 words
each. Each question carries 30 marks.

1. ‘The village in India 18 only an architectural and demographic entity. —
Critically comment on the statement. '

9. Bring out the usual sociological distinctions between parna and jatt.

3. Delineate Dumont’s anderstanding of the Caste system.

4. Discuss the galient aspects of Yogendra Singh's thesis on ‘Modernisation of i
Indian tradition’.

5. What are the main features of Trawati Karve's clagsification of kinship
organisation in India ?
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22t D 3%30=90

| ReAT oI DODTR SaRT2 FFrvert euZbA. T 303R0T0 PVFTRP

300 Fore, dcomodoeies. &3 3 =B 30 eaoarrgﬂb

“raTen BROIR fome 0m SIReUASd W wHTOMBNY  WAZT,
(A[clntectural and demographic entily).” — g DePTonsy ITLTEZ, Fooh
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